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2019(0dd) Old Syllabus

Time : 3Hrs. Sem. V- Chem.
CRE

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ |l 20 ¥l B IR T, IAS U BT 4 1 35 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

79-B @ v+t ufg ol & SR Q, IAS U BT AH 437G B |

Answer all Five questions from Group C, each question

carries 8 marks.

gu-C & w+ft uig yel & SR T, UAD W BT A9 8 3% 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U @ Ol e &1 SR Ua g TR (AR 9 o)
BI4T 912, el 9 Sifd 8 o 9ad @ |

The figure in right hand margin indicate marks.
TN urd & e QUiie & gad @ |

P.T.O
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11.

OR(3r2rd)
Define:
(1) Space time
(i1) Space velocity
(iii) Holding time
(iv) Rate constant

gRHTIa ¥ —

(i) 49 eIz

(i) |9 darfudt

(iii) BifesT ez

(iv) Y€ i<

With the use of data provided, prove that the

decomposition. of N,Osat 67C"is1st order reaction.
Calculate the value of rate constant.

Time,
min

CNZOS 0.16 | 0.113| 0.08 0.056| 0.040
mol/l.

< fhU Y S1er & SuA T ° I8 arfad
X & N,0, ¥l f& 67°C R B 3ATSX U8 WIH
Ruder 2| Y dieeT T 41 A1d BN |
Time,
min

NOSI 016 | 0.113] 0.08 | 0.056 | 0.040
mol/l.

0 1 2 3 4

0 1 2 3 4

O0TS5006

(i)

(iii)

(iii)

(iv)

3 14501
Ruae@ A+B—>2B+C & fog—
(1) Iy, = Iy
(@) I, =-Iy
&) r, =2r,
(]) 1, =13,

In a homogeneous gas phase reaction
A +2B—R+S. What is the relationship

between r, & r5—>..........
(@) 2ry =1y
(b) ry =2ry

©)ry=13
(d) None of the above

goifa 1 o9 Ruae=
A+2B—>R+S. ¥ 1,3iR 1, § FT G
BIT?

(31) 2r, =1,

@) r,=2r,

(@) r, =1,

(@) T A BIg e

Molecularty of an elementary reaction
P+Q > R+Sis ...........

(a) 1

(b) 2

(c) 3

(d) 4

P.T.O
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GROUP C

Answer all Five Questions.

gl uig g & SR o

7.

8x5=40

Derive performance equation for steady state plug
flow reactor & mixed flow reactor.

8
el ¥Wee Wi Tl Ruaer iR faas vl

Rudex & oy wReidw s @9 s1d &R |

OR (312rdn)

Explain recycle ratio & derive the performance
equation of recycle plug flow reactors.

D I P ARAT B IR AT D
T ¥ell Rudex & folv WReRAY sdd 3=
T BN |

Compare the integral & differential method of
analysis of analyzing reaction kinetics data.

8
Ruaer srgdfed srer #1 TS d31 &
forg sEe iR e Rra ders aifw

gATferRrE & gardr @ |

O0TS5006

(vi)

(vii)

(vii)

(viii)

5 14501

ofial wied &1 yRWINa fear wirar 28—
(31) D/K

(¥ K/D

(&) L(K/D)"3

() LK/D

For a gaseous reaction 2A—B where the
feed consists of 50 mol % A & 50 mol %
inerts, the expansion factor is:

(a) 1

(b) -0.5

(c)-0.25

(do

e R Ruaes @ foe R, wis
7 50% AR 3R 50% I B, BI
TFIU I Hdex 2—

(31) 1

(€) —o5

(|) —0.25

(® o

As the chemical reaction proceeds the rate

of reaction.

(a) Increase

(b) Decrease

(c) Remains Same

(d) May increase or decrease depending on
the type of reaction.

P.T.O
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N 9T 9139 & UHoUHodR ol fd wdcs x)  3reel 19 SA = A7 @R 2
g BT WIER PR FACIAE Feardd o | @) @4 T, SHP
() Sarer T, Sgrer P
4. Discpss par;allel reaction With examplt?. Also discuss (@) &9 T, & p
fractional yield, overall yield & selectivity for parallel
reaction. () ST T, 9P
4
Reord RueE W ISR & A1 g4t d | (<) InaCSTR, what varies with time:
HhaHd Rids, e dfd Ridas i Radfdefad (a) Reaction rate
@1 HY NeTad RugeE ¥ a4t | (b) Concentration
(c) Both (a) and (b)
OR(3reran) (d) Neither (a) nor (b)
Explain pseudo order reaction. (xi) WoTHodlo IR ¥ <ISH & WA T
I8 Frar -
sl dier Ruaes a1 aaran a | (31) Ruger e
@) dugTH
5. Discuss autocatalytic reaction with conversion- @) < (@) R (@)

time & rate concentration curves.

(&) =1 (@) 3R @)

icrdefefed Ruaq &1 dRIA—<EH 3R
T HISYE B & 1T F=@l BN | (xii)  The most suitable reactor for carrying out as
auto thermal reaction is a:

(a) Batch reactor
(b) C.S.T.R.
(c) Semi-batch reactor

OR (3121dT)

Discuss batch reactor including its advantages &
limitations. (d) Plug-flow reactor

P.T.O
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dfcrderfafed RueeE &1 Yc v 2
(31) R SRR BT

@) R® 9IR &1

) R sursiizE &1

(@) w+h (3), @) R (¥)

GROUPB
Answer all Five Questions.
4x5=20
Y ufg gl @ SR
2. Explain:
(1) Elementary reaction
(i1) Non -Elementary Reaction
(i11) Molecularities 4

(iv) Rate - constant

0T5006

9 14501

xiv) DI d Rudex § dfieda srsdAfeda @1

(xv)

(xv)

(xvi)

AT a4 T Bdr 27
(@) sRaRide

(@) RarRfae

(¥) WR»d

(3) w15

For any reaction, we may write conversion
as a function of:

(a) Time

(b) Temperature

(c) Concentration

(d) All (a), (b) & (c)

fedt ff Ruaers o &9 forg 99d 2
Baoi-] Bl HI ATH

(@) ergH

@) T

() dugE

(?) & (). (@) A (3)

A catalyst is said to be a negative catalyst if ,

1t.

(a) Retards the rate of reaction

(b) Reduces the value of equilibrium
constant

(c) Does not initiate the reaction

(d) All (a), (b) & (¢)

P.T.O
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